= A
N = 0] &F AF S & AN A
20228 = 20l A L BEFSIH M A
2N dHIE
HE: A" 2
Sel: AT B8 018X Y MY CERED
. _ = SfE|
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Az )| & 2,335,223 2,161,859 173,364
< 91,601
Al 2,243,622
ANES = 235 2,212,087 2,029, 160 182,927
= 91,601
Al 2,120,486
ANEO =& D& - =F & M) 934,937 992, 155 NB7,218
ANE F=RAE = 122,750 107,256 15,494
201 et 114,750 99, 256 15,494
01 AP 2t 2] H| 114,750 99, 256 15,494
OUZTHREHE NN 11,400
OANBERED 3,800
-& | 10,000& = 958 * 23| 1,900
—4= Al 10,000& * 958 * 23| 1,900
OJIEt 9FRE10A 10,000& = 958 * 43| 3,800
OJIEt SLEDM(2Al)
10,000& * 955 * 43| 3,800
OAZHFEX I L ZALA 76,700
OANHEEA X 10,0008 * 2,3758 23,750
O DI M2 10,000& * 1,9008 19,000
OANBZYEAN H 2 35,0008 = 3808 13,300
QuEYAN H& 35,0008 = 4008 14,000
OANEED & EAXE HHE(EDANH K01)
10,000& * 955 = 53| 4,750
OJl=8s I M= 10,0008 * 1908 1,900
OANAE=E2 CEEPT M&A  17,100,000& = 13 17,100
OFRUPEE BIA 10,0008 * 958 = 33 2,850
OYRFXREH A2 6,700
OUXNE=SA 4 & IIELKX 6,700
-8 |LUE 550,000 = 40 = 13| 2,200
-E14 250,000& = 30 = 63| 4,500
203 SR F & 8,000 8,000 0
03 AIZH =X 2= X H| 8,000 8,000 0
OAASOH HRFA 8,000,000& 8,000
HIAD . Y 524 517 178,339 346,178
201 Yok 2 Y| 38,357 28,339 10,018
01 AP 22| H| 28,357 28,339 18
OXAMHY HESEHE 02
1,425,000 ~ 1= 1,425
O =3 T&7Y
7,0008 * 578 x 12&€ 4,788




SN B

Bu: AFAY 2
Sl AFO BE JIE - XF U FHHY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
CEENEFNEE
17,000& = 10& = 123 2,040
OANEE2=2EZF M 4,750,000& 4,750
oAzEeld N M 950,000& = 83l 7,600
©23 ClAt2l OI0IKIZE MHEZE 1,359,000& 1,359
OLIXNAEE AZEAN AEZ  1,425,000& 1,425
O E ZE 7 1,520,000& 1,520
O&FAOA W 11,5002 * 3000H 3,450
02 =224l 10,000 0 10,000
OXZIE 2HET 32 w2
10,000, 000& 10,000
203 ¥ S =&l 20,000 20,000 0
03 AIBZ=XH =AY 20,000 20,000 0
OJI=ldy gR=2 20,000, 000& 20,000
207 Ao H| 464,000 130,000 334,000
01 289 464,000 100,000 364,000
OA1E FHAY E=2E2H 150,000, 000& 150,000
OHZAl Z2I| HIM OHHE 48
50,000, 000& 50,000
OFFAl TAIEHE &I 264,000,000 264,000
301 EEd = 2,160 0 2,160
09 HALAHIX A S 2,160 0 2,160
OF AT 312 HFHA AlHl X
8,000& = 453 =« 63l 2,160
S0/d ot 29 10,650 4,050 6,600
201 Let24d] 10,650 2,850 7,800
01 At 22l 10,650 2,850 7,800
OZAAHOIY AlSEIIRRE 29 10,650
OZAAIS 0l AIYEI ZRHEDAM
19,0002 * 1508 2,850
OBAAL0IS AQTIIRAE BA 29
100,000& = 26%H =« 33| 7,800
AMBENRE 29 51,400 420,050 A 368,650
201 LB-2dH| 48,000 416,650 A 368,650
01 At 2t 2/l 48,000 416,650 A 368,650
O3 FH&d 48,000
Os4dsg 100,000& * 10 = 303l 30,000
Oxl=z 30,000& = 102 = 10%/ 3,000
OetA M 50,000& = 10¥ = 203l 10,000
O&Hel 4%  50,000& » 10& = 102 5,000
301 LEAZ 3,400 3,400 0




AN ZHOIE Y
M ANEAY LEt
B‘?’I }\|§9_| =St j|§_l . chi;l al X—liHjH\:ll (C}_?la_o‘:l)

- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
09 HAIAHI X & 2 3,400 3,400 0
OANHE HBMEZZ EHOHA Ba 3,400
O& & At 200,000 = 2H4 400
OFH L EX 300,000 = H5H 1,500
OEEXN 150,000& = 10Y¥ 1,500
ANEEAE A9 2H 12,760 6,200 6,560
201 et 9| 8,760 3,800 4,960
01 AFR 2t 2| bl 8,760 3,800 4,960
ONFLHADD2Y ARBS S|
L000& * 47 + 1038 3,760
ONHLHARRY €Y I8
100,0008 = 258 = 23| 5,000
202 044 4,000 2,400 1,600
01 2L I 4,000 2,400 1,600
OANA YN HARZQ dIX 02 o]
80,000& =* 50YH 4,000
HMT2CE 2 16,200 1,000 15,200
201 et 16,200 1,000 15,200
01 AP 2t 2] d| 16,200 1,000 15,200
OFMIEEHL 29 16,200
OFMT 2 B9 M 4o
100,000 * 19¥ * 83| 15,200
OdHBINE= 1,000, 000& 1,000
ABIENH A8 EHE 25 - 29 175,000 235,000 A 60,000
201 LBt 9H| 140,000 200,000 A 60,000
01 AP 22| H| 140,000 200,000 A 60,000
O2AHE 29 140,000, 000& 140,000
301 et M= 35,000 35,000 0
12 JIEtE A= 35,000 35,000 0
oOAlSIE &0 MdEE 35,000
OWEXA &N 5,000& * 500%™ * 143 35,000
AAOIOICIHE = 21,660 16,460 5,200
201 LBt | 17,860 12,660 5,200
01 AP 22| d| 6,360 2,660 3,700
ofds HFHrY 3,560
OFFAl MtAAIRIE 3
100,000 » 6H * 23| 1,200
OB FAl MO AlQIHASH
100,000& = 10 * 23| 2,000
Ox=¢ 30,000 * 6H * 23] 360
OAIRIHIoF =& 2,800
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AN ZHOIE Y
Bu: AFAY 2
Sel: AFO ZE JIE XN Y FEY (e @e)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OASIHe 228 M=
150& = 6,0008 * 23| 1,800
OAlI2I R et 24Xt & H Al =
100,000& = 53 =« 23| 1,000
02 =224l 11,500 10,000 1,500
OFE=1810t EHOIXl 2el 11,500
OF =180t EHOIX FX2c
625,000 = 12& 7,500
O&FF180t 20X ZE = HM&
4,000,000& 4,000
301 LeEBA S 3,800 3,800 0
12 JIEtE4 3 3,800 3,800 0
OARI2=HQ HEI A& 3,800
O=#4 1,000,000 * 1H 1,000
o= 700,000& = 19H 700
Os# 500,000& = 1H 500
Oy 300,000& = 2H =« 23| 1,200
OF =P~ 100,000& = 2H « 23| 400
defd do & HEs SH 2a 569,101 415,720 153,381
< 91,601
Al 477,500
sHZEE SHOIX &2 17,361 16,288 1,073
101 @14 dl 17,361 16,288 1,073
04 JIZHHZ2XNHEE S 17,361 16,288 1,073
OSHBRE LAANEARSY 17,361
OJdles 73,2803 * 1% « 26¢ » 83 15,243
OFE=FItHI 200,000& * 23 400
O=0d=z=2E=3 15,643,000& * 4.5% 704
OI0HLEEHEZRE S
15,643,000 * 3.43% 537
OEINLQAEEZRES 527,000 * 11.52% 61
CnEZEERE3 15,643,000& * 1.65% 259
OtHEH 15,643,000& * 1.00% 157
JIEH SHE A 13,585 13,585 0
201 £B-2dH| 13,585 13,585 0
01 At 22/l 13,585 13,585 0
OSHAE &2t 46,000& * 1902 8,740
OsSHZE=s = &2t 17,000& * 285% 4,845
=P PIELF EIN 285,908 0 285,908
< 60,243
Al 225,665
101 @124l 77,535 0 77,535




LV EE-ESET

g ANESY ZE

ool MEBX S0 U M S el CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
= 27,364
Al 55,171
04 JI2ZtHIZ22NEE S 77,535 0 77,535
OMYM ZAIRS B4 77,535
OXZ AFZEIRF (23T, 28Y) 34,293,000 34,293
< 10,290
Al 24,003
Os 22l XH(4%, 28Y) 5,964,000 5,964
& 1,792
Al 4.172
OZXALXI & 22| XH(hY |, 28L) 7,185,000 7,185
= 2,016
Al 5,169
OYeE A (23, 19¢) 22,419,000 22,419
o 6,728
Al 15,691
o4Eg = 7,674,000 7,674
& 1,538
Al 6,136
201 Yer2 | 208,373 0 208,373
< 37,879
Al 170,494
01 AP 22| H| 208,373 0 208,373
OAIE M EA AA Ko L AIREE
7,285,000 7,285
OMEMEAI EE 70,000& * 60H 4,200
OASHEZAI EDAN &2t 50,0008 = 1508 7,500
OXZAMNI T2H(196Y, 26Y) 189,388,000 189,388
= 37,879
Al 151,509
2 MEYSHEA 1,330 0 1,330
201 LBt Y| 1,330 0 1,330
01 AP 22| d| 1,330 0 1,330
OZYd, HEY XA E2(s4=0H)
0,000 = 1904 1,330
SEAMNB XN EIHE S H EA 82,317 82, 191 126
& 31,358
Al 50,959
101 Q124 4] 54,182 55,156 N974
& 27,091
Al 27,091
04 JI2ZtHIZ22NEE S 54,182 55,156 N974
OAMIXNENLEHTAME B 54,182
O X Ar2te| Xt 76,070& x 8% x 18¥ 10,955
& 5,478
Al 5,477




LV EE-ESET

g ANESY ZE

SRl FMA™ D Y I SH 22 (S &2)
- - _ RE!
M. o (BH) - HSAY - BAS e 2
OZX AL 73,280 * 32Y x 16 37,520
& 18,760
Al 18,760
oA 73,2803 * 8Y x 9¢ 5,277
T 2,638
Al 2,639
O4UiEe = 430,000& 430
= 215
Al 215
201 LEt2 Y| 28,135 27,035 1,100
& 4,267
Al 23,868
01 AFR2t2ldl 28,135 27,035 1,100
OXANE & A 1,000& * 4,7002 4,700
& 940
Al 3,760
oOxXMEE P 10,000 * 50Y 500
& 100
Al 400
o8 8t 60,000& * 30H 1,800
T 360
Al 1,440
OEH ot & 1,500,000& 1,500
& 300
Al 1,200
O=EEEE 12,835,000& 12,835
< 2,567
Al 10,268
OBNAN g2t 40,0008 * 170% 6,800
Y2 Bt 143,600 142,000 1,600
201 et A | 1,600 0 1,600
01 At 2tel | 1,600 0 1,600
OYREIAAZ =g
100,000& * 8YH x 23] 1,600
207 A IH & H| 130,000 130,000 0
01 A2 sS<H| 130,000 130,000 0
©20228 = Hup&
130,000,000& * 13| 130,000
303 A2 12,000 12,000 0
01 ZAa2 12,000 12,000 0
OANZZSEEIL St X E A
600,000& = 20 12,000
S EIIY A 25,000 25,000 0
201 LEt2 Y| 25,000 25,000 0
01 AL 22l H| 19,000 19,000 0




M I
Bu: AFAY 2
Sel: MW NI U S SH 2 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OXE B2 2148 9,500,000& * 23| 19,000
03 #HAL2 Z bl 6,000 6,000 0
OFALAXE YA 223 6,000,000& * 123 6,000
g Al He =X 17,340 17,130 210
Ze 4l e FA 17,340 17,130 210
201 Let249] 7,340 7,130 210
01 At 2teltl 7,340 5,130 2,210
OZe g AMNA L ANEES M} L2t 5,120
Ong #®s 12 o
4,000& * 2905 * 23| 2,320
OANRISEE M Y2t 10,0002 * 280 2,800
OZXEs HADY M@ AT
1,100,000 = 13l 1,100
OXXESs HADY HRHE S|
8,000& * 20H =« 73| 1,120
203 R F=&H| 4,000 4,000 0
03 AIMFA AR ZAY| 4,000 4,000 0
(©OF=FaR= R 4,000,000 4,000
303 Z& = 6,000 6,000 0
01 Z& 3 6,000 6,000 0
OFSSL 42N T4
600,000& = 100 2 A 6,000
ANEEMNE =0l 28 & 32 N 676,064 594,650 81,414
XY 2el 7,920 7,695 225
201 et 7,920 7,695 225
01 At 2teltl 7,920 7,695 225
Ot IXYE =2
5,000& = 1508 = 63l 4,500
OZXdrEas Motz R
19,000& * 158 » 123 3,420
HIHO ASMR H 615,704 534,560 81,144
201 L2l 397,204 366,060 31,144
01 At 22l 397,204 366,060 31,144
ONEHSAN =Y 28,800
oJl= 300,000& = 69 = 12& 21,600
OZ=1H(521014) 600,000& = 12& 7,200
OLEAE =2 5,500,000& = 60 330,000
O3 LA8HE 21,160
OCelXITH 300,000& = 403l 12,000
(OF3=§-1 52,0002 * 803l 4,160
OJlEta&Hl 2 1,000,000 * 53| 5,000




SN eI D
2

Bu: AFAY 2
el AZADE S0ls 98 U 2 X (ol @)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUEZE UHANOIL S22
1,437,000& * 128 17,244
303 L& 3 18,500 18,500 0
01 243 18,500 18,500 0
O Z&F 18,500
O=¢tAtA 300,000& = 60A 18,000
OLM AHAA 50,000& « 10A 500
305 tHat=2 S 200,000 150,000 50,000
01 HHaZSE 200,000 150,000 50,000
OxsAA tidd= 10,000,000& = 20A 200,000
o3 e =& 52,440 52,395 45
201 Let24d] 13,440 13,395 45
01 At 22l 13,440 13,395 45
OHBIAMRZ AL NBAEY MelZ2H EOM 7
15,0003 * 2408 * 23| 7,200
OANZBEZE EEHAN R
5,200& * 1202 = 103l 6,240
203 YR =&t 3,000 3,000 0
03 A FAH S =AY 3,000 3,000 0
023 R =&l 3,000,000& 3,000
04 HIREISS 36,000 36,000 0
03 RALNEES 36,000 36,000 0
Oodoiz elgt F ¥ =
1,500,000& » 2% » 12& 36,000
RS =& 11,045 9,505 1,540
THNE F& 11,045 9,505 1,540
201 Let24d] 9,045 7,505 1,540
01 At 22l 9,045 7,505 1,540
OAMIME nEils & 222 MH 7,505
OXgu=s 81z R
4,000 * 47552 * 23| 3,800
OZ0tdts AHADHH 222 HA
10,0002 * 2854 2,850
O HMIME otoICiof 228 222 M
150& = 5,700% 855
OFMIMEAS 28+ 1,540
ORIz 4+ 100,000& = 53 =« 23| 1,000
OtA M= 30,000& » 69¥ = 33 540
301 LPEAS 2,000 2,000 0
12 JIEtE4 3 2,000 2,000 0




E=F- 1=t
M OARAY AT
&l

0 AHME =&

.I

0

(o
SN ED B (3H) - MEAY - BAS %@i HD=2
OAMIME OoloICI B2 X Al
200,000& = 10¥ = 13 2,000
HEY =X 3,600 0 3,600
=Sy =& 3,600 0 3,600
201 et 9| 3,600 0 3,600
01 AP 2t 2| H| 3,600 0 3,600
oXNIWE N WSV M
4. 000& * 3008 * 23 2,400
ONIBHAAS 2P+
100,000 * 4% = 33| 1,200
H AFH(HZI &) 123,136 132,699 AN9,563
29| 55,528 55,039 489
244l 55,528 55,039 489
101 Q121 H| 55,528 55,039 489
02 JIEtE 2 % 10,508 10,402 106
OANUAI2 2 (AZEEHAIIH)
9,832& * 20AI2F » 128 x 1H 2,360
OANZAZ 2L (ASHE UBLAD|H)
12,124& = 28AI2F » 128 x 29 8,148
03 2EX(RIHSY)Z2Z2XE 45,020 44 637 383
OHIARA 45,020
oo 2,252,460 * 1H = 128 27,030
o2s54+¢ 112,620 ~ 1H = 128 1,352
QIIEE 40,0008 ~ 1¥H « 128 480
OHHZAH| 140,000€ *~ 1H = 12€ 1,680
O&dAx=E 50,000& = 1 = 128 600
OEFx=2RxH 30,000 ~ 1 = 12&€ 360
OANZ2AZ22LE  15,940& * 50A12F ~ 128 9,564
OY ZE I 1,126,230 ~ 1H « 23| 2,253
O I AtH| 85,040& * 1 » 20¢ 1,701
Al 67,608 77,660 A 10,052
=4l 67,608 77,660 A 10,052
201 et 9| 28,368 27,936 432
01 AP 2t 2] H| 28,368 27,936 432
oJl2ge4Ldss AH(J1=Hdl)
450,0009 * 249H 10,800
o3I (J1=&Hl)
8,000& * 249 « 7Y x 128 16,128
O&XZLD AdX= 40,0008 = 304 *~ 128 1,440
202 o4 | 23,040 33,524 N 10,484
01 2L I 23,040 33,524 N 10,484
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01 J|22HLRF=AH| 12,000 12,000
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04 ENSIHRF=EY| 4,200 4,200
©J|=H (2521 0la}) 350,000& « 12& 4,200
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2N

Ax s
N vsls dTols B Re BE 4
Cell A 2B ZUHE 7 (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 43,000 0 43,000
06 212tol=2l 04 Hl 43,000 0 43,000
OoIS&EE23 aiAH=s  1,000,0008 * 43H 43,000
o - 8& MsU3 50,000 38,800 11,200
307 eIzl & 50,000 38,800 11,200
04 QIZFHALAIH E = 50,000 38,800 11,200
O0ls® MUz 50,000,000 = 13l 50,000
SO XX g4ds =2 55,013 51,663 3,350
201 Let24d] 31,985 28,635 3,350
01 AP 2teltl 19,500 21,750 A2,250
OFQXX €& RS EEM
100,000& * 459 4,500
OM4d FXNXAJE ELX B2
100,000& * 309 3,000
O FUNXNZZIY AU 28 FL (R
LE &) 2,000,000& = 48 8,000
O&E= FOUXNXNZZOH JAUS 28 2|
LS S) 2,000,000& = 28 4,000
03 & Ar2 Gl 12,485 6,885 5,600
OAEXXICHE 29 6,885,000& = 13l 6,885
OFQXXIS0otel 2F XA 700,000& » 8 5,600
301 LPEXZ 23,028 23,028 0
09 HALAHIXI &3 23,028 23,028 0
O XXE s & 24 3,580
Ozd=sns(FUX&4se)
11,0008 * 80 880
Ot 7 FUMXRY HRNF 2,700
-S4 A a2 11,0008 » 200 2,200
YA 500
- Jl= 300,000& = 1H 300
R 200,000& = 19H 200
OX=ZFDIXXI S 2s 2K Adl B4
45,0003 * 90 * 13l 4,050
OFTXAZEE s 29
11,0008 = 43Y = 63l 2,838
O FOUXNXNZZOH FAMS =It
25,0003 = 40H 48 4,000
OF= FOUXNXNZZOH AAWS =Dt
25,0003 = 40H » 28 2,000
OFQTXSOotel 2F AMHEH 6,560
Bl BAX A Ay
8,000& = 40¥ = 8IH A 2,560




2N

PADNEELES]
M HGE Hdole 8N 2= EF AE
Cell A 2B ZUHE 7 (S5 &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Osotel 88X HAg AHl24
500,000& * 8 A 4,000
&= FQIAX &3l &t 15,000 15,000 0
201 £B-2dH| 7,000 7,000 0
03 A2 Z Hl 7,000 7,000 0
OXIZUNX 2 S HAZ 2o
7,000,000& = 13l 7,000
301 LEAF 8,000 8,000 0
09 SALAHIXIE S 8,000 8,000 0
OE=IFLURNXE S R=Atcll EItX AHE
o 8,000,000& = 13l 8,000
FUXNX2E el 43,000 0 43,000
301 LEHF 43,000 0 43,000
06 212toI =2l 04 Hl 43,000 0 43,000
OFUXNXAZAEZ oA
1,000,000& * 43%H * 13| 43,000
FOUNXNEZ DY LHI L AZHEAS 20,000 20,000 0
201 Let2d] 20,000 20,000 0
03 A2 Z Hl 20,000 20,000 0
O=BUXNXNEZZIH LH3 & HBHAZ
20,000,000& * 13l 20,000
FO XX 243 F3s 20,000 20,000 0
201 L2l 20,000 20,000 0
03 A2 Z Hl 20,000 20,000 0
OFQXX 43 135 20,000,000& * 13 20,000
d=aFUMXNZZ20H ZAUS 30,000 30,000 0
201 et 30,000 30,000 0
03 A2 Z Hl 30,000 30,000 0
OX=FUNINZZOH BAHAUW S
30,000,000& * 13l 30,000
A2 SHols 2R]EA BEDI 587,388 563,176 24,212
= 5,500
< 4,000
Al 577,888
SAIHE 2 S XA 38,000 38,000 0
201 LBt2d| 38,000 38,000 0
01 At 2t 2l 38,000 38,000 0
ORYHAILY EEWM M 100,000 * 285JH 28,500
OAQIHA Al&A EHI 6,650,000& = 13l 6,650
O%A 2d &9 MAEA(UHE)
95,000& * 15004 * 23] 2,850
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el
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O I >
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o 02
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=
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=
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=
ol
fr rir

5 - 4
HH .o (3H) - HRAY - BAS e 2
M 22 ES 507,909 483,661 24,248
101 @121l 507,749 483,501 24,248
04 J|I2ZtH2E2XNEE S 507,749 483,501 24,248
OS.otAH e Ot2H0IE
73,2803 * 1359 =+ 252 x 23] 494,640
oJ|ae=g2 13,109
(OME=1=8=-! 494,640,000& * 1.65% 8,162
OMMES 494 ,640,000& * 1.00% 4,947
301 et X = 160 160 0
09 HALAHIXI &= 160 160 0
OMHE M OIZHIOIE =& &KX A4
10,000& * 8YH * 23] 160
SS0IEFUF XA 10,000 10,000 0
< 4,000
Al 6,000
201 Bt A | 10,000 10,000 0
< 4,000
Al 6,000
03 AL H b 10,000 10,000 0
O=80/2F0 FHAY HE2SS 43S
5,000,000& = 23| 10,000
& 4,000
Al 6,000
stolg=al X< 3 249 5,500 5,500 0
= 5,500
201 Bt A | 5,500 5,500 0
= 5,500
01 AP 22l Yl 5,500 5,500 0
OSeoIE=0X& XHF2g &Y
1,375,000& * 43| 5,500
= 5,500
2= 3,325 3,325 0
201 L2 Y| 3,325 3,325 0
01 At 22l Yl 3,325 3,325 0
o3t AMBles g8 3,325
o=gd PAESS 66,500 = 500H 3,325
ECHME M X 5,238 5,238 0
307 QI2t01 ™ 5,238 5,238 0
04 QI2SHALAIE E = 5,238 5,238 0
OBTHUSIMI =2 olHMAZ
5,238,000& * 13 5,238
=M% 012+0l A g H 4,850 4,850 0




2AM: XA D

HzM: HEE HACole 8 2= 3 Ad

SH9l: AIRID BHGHE LREAI S0 CERED
- _ _ RE]

SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 4,850 4,850 0
04 SIZ2ISHAAIH E & 4,850 4,850 0

Ost=&H 0I2t0l SIMX F=2H
4,850,000& = 13 4,850

S0l F0 BS 282Y 29 5,291 5,327 A 36
307 212t0| & 5,291 5,327 A 36
02 DIZHB AAIE E X 5,291 5,327 A\ 36

OSE0IZE0 YUS D2Y 2
37,0008 * 138 » 11& 5,291

OlSE0IAHES USHH AFE X & 4,365 4,365 0
307 2I2t0| ™ 4,365 4,365 0
04 CIZ2tSHALALS B X 4,365 4,365 0

O0=E2HEs AUsH AT X
4,365,000 * 13| 4,365

S0/ F=0 2 HE 2,910 2,910 0
307 QI2t0| ™ 2,910 2,910 0
04 CIZ2tSHALALS B X 2,910 2,910 0

oO=s01&=0 2 HE 2,910,000& = 13 2,910
AEMES Ut L A HEHAH 25 76,512 43,712 32,800

ABAHAD =X 76,512 43,712 32,800
201 et 9| 68,512 35,712 32,800
01 AR 22l ] 17,312 9,512 7,800

OJI2HHHEE2S 32 2,292
O3l ME 9,5008 * 508 x 43| 1,900
o2k 31,350& * 43| 126
OEeate 66,500 * 43| 266

OsSHSE HA2AEF FAMF

665,000 * 43| 2,660
oOx=39, 243 =257
190,000& * 243| 4,560

ORIdE =% 7,800

Ootsz=2sid 2923

100,000& * 79 = 33| 2,100
OB FAXNEXCHE 2T A3

100,000& * 79 = 13| 700
OSs0lZZ0INA HFA Ke s

100,000& = 10¥ = 23| 2,000
OBFAAN A2 23|

100,000 * 14¥ * 13 1,400
Og=20x0 XA

100,000& * 4% = 43| 1,600

02 2% 4| 1,200 1,200 0




SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OYRALE 0ISHII AAEZ 1,200
OJlezg 50,000& = 104 ~ 123 600
o=z 50,000& = 104 » 12& 600
03 & Ar2 I 50,000 25,000 25,000
EXA =8 5,000,000& = 23l 10,000
OANZ =2 (=2 o tat)
20,000,000& = 23l 40,000
203 & 2 =&l 8,000 8,000 0
03 AIF=XH R =AY 8,000 8,000 0
OXNXHEE AP =2 8,000,000& 8,000
dASSHH 2= 1,532,240 1,545,760 A 13,520
AASSHAH 2= 1,532,240 1,545,760 A 13,520
201 L-2EH| 1,014,700 1,007,570 7,130
01 At 22/l 1,014,700 1,007,570 7,130
ogtnsntsd 230,000& = 6604H 151,800
Od3 =0 90,000& = 150H » 63 81,000
Ogdud NS 230,000& * 2004 46,000
OfA HEZ2F EXLE 450,000& = 80 36,000
oOd&2stus 152,500
(OFSE=3--] 250,000& = 1804H 45,000
oxgg 250,000& = 1809H 45,000
OURASUHEX B 250,000 * 2509 62,500
o= & NgusJ|& 1= 166,000
OXNEXXI QAL I NISUE
12,000,000& * 4%H 48,000
Os52&d 2lHMnE 1,000,000& * 409 40,000
OFTHUTE 24 nE 6,000,000&  13H 78,000
OMOIH?E NS WH 180,800
SMSH
20,0002 * 2,900H » 26% * 10& 150,800
OMOIH W= 30,000,000& 30,000
O=2=d /&L= 38,000,000& * 2H 76,000
OUs (tHaa) adl XI&
900,000& = 40Y = 23] 72,000
02=0 sssotel 249 XN&
33,000& = 100 » 128 39,600
OXN&EXXAE2ds 22X 2 12,000
OX Xt X 7,000& = 1008 = 12& 8,400
ORXgHd 6,000& * 502 * 12& 3,600
OJIEIX (HAMBES) A& U=
125,000& » 4% « 23] 1,000
202 oddl 517,540 538,190 A 20,650




2AM: XS
MM HglE Mol M 2= EF AE
Sl HASSHH PE (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
NIEECE 1,000 1,000 0
OJEIH (HRUUERBS) AL DS
125,000 * 49 * 23| 1,000
04 =M 30 Bl 175,440 82,390 93,050
OXNLXXCITHINL R HIIWFA of 2l H= 34,480
oga 3,800,000& = 4% 15,200
O X TH dl 4,700,000 = 4% 18,800
OFEdl= 120,000& = 49H 480
OZAHURLLHNE I WS aiAH= 66,560
o2z 3,000,000& = 13Y¥ 39,000
O M TH 8l 2,000,000& = 13H 26,000
OFdl=2 120,000& = 13Y¥ 1,560
O=2=2d /A= n=ss=dE | 74,400
ogged= 3,000,000& * 29H 6,000
O X T Bl 30,000,000& = 2H 60,000
OZFHl 2 4,200,000& * 29H 8,400
05 22% WOHY| 341,100 454,800 A 113,700
OnNRIZ A& WEe=d ol 341,100
OLertd 75,800 * 1,500 = 3Y 341,100
AA2Y A2 1,000 1,000 0
otel g2FA 1,000 1,000 0
203 ¥R =&H| 1,000 1,000 0
03 A F=X SR =XIH| 1,000 1,000 0
OXxXAe R 1,000, 000& 1,000
D=2sid 243 664,965 558,796 106, 169
& 12,000
Al 652,965
lI=23sH 2435 XA 2,900 3,800 A 900
201 2yt 2 Y| 2,900 3,800 A900
01 At 22l ] 2,900 3,800 A 900
OllsZ2sH 43 MY 22 HE
1,900, 000& 1,900
OlISZssH YR FASLs 1=
1,000, 000& 1,000
NESSH AEEY At 8,000 8,000 0
== 8,000
201 et A | 8,000 8,000 0
== 8,000
01 AR 22l ] 8,000 8,000 0
OXNGssH H&8E AL 2,000,000 = 49 8,000
& 8,000




R PPN = RSy
N vsls dTols B Re BE 4
el DIS3SH 243 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NEESSH M S2AS 20,000 20,000 0
< 4,000
Al 16,000
307 gl2tol & 20,000 20,000 0
< 4,000
Al 16,000
02 It HAHE L 20,000 20,000 0
OXNIEZSSH HMtIS2 A
5,000,000 * 404 20,000
< 4,000
Al 16,000
Ot=EsHd NJAHH 29 580,000 526,996 53,004
307 21201 A 580,000 509,996 70,004
05 BIZHRI & 3 580,000 509,996 70,004
ons2=sd NJAdH 24 580,000,000& 580,000
ot=23la JIs22 54,065 0 54,065
402 RI2FX=01 M 54,065 0 54,065
01 2I2E 2 A B (KM ) 54,065 0 54,065
OLAN2s B3 OISl Al E=
14,652,000& * 1002 14,652
OR9H F222| OtS23& ANE B
17,582,400& * 1002 17,583
o5 =3el otss& Ald B
2,764,080& * 1002 2,765
Od2H =32 OS2 AN B
976,800& * 10H A 977
OZd1s Y= OS2 AN B
1,288,000& * 1JH 2 1,288
OouU=5 P41l oS3 AN B
16,800,000 * 1JH 2 16,800
SN L= AZEE HA 2= 2,063,234 2,023,074 40,160
= 49,123
< 115,200
Al 1,898,911
QI2FALSI EhXl THE X & 55,600 55,600 0
201 Let24d] 17,250 17,250 0
01 At 22/l 14,250 14,250 0
QLA =313 EEW HMH
95,000& = 1509H 14,250
03 &AL S HI 3,000 3,000 0
OMETARY oG A3
3,000,000& = 13l 3,000
203 ¥ S =&l 1,000 1,000 0
03 AIZ=XH 2 =AH| 1,000 1,000 0




AN XX HE D
dM: HoE d&6te BN 2= ¥ A8
CHelr SN UssE AllEE MA 2= (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OQIZ2tALSI &HHl K& gR2=2 1,000, 000& 1,000
301 LPEXF 37,350 37,350 0
09 HALAHIX &S 37,350 37,350 0
oot S AN u=s 37,350
O W=l 204,000& = 1509H 30,600
OS2 uWsENH 40,0003 = 150 6,000
ORXIg==& WM 5,000& = 1509 750
QEHIASLNEAAEFAES XA 77,500 77,500 0
307 glz2tol & 77,500 77,500 0
02 It M AMHEE 67,900 67,900 0
ORUFHIISLNZIAFEFAE A3 ALHX
67,900,000& 67,900
03 RIZIEH B H2IHIEX 9,600 9,600 0
ORUFHIISLUNZIAFEFAE S 2EX
9,600,000 9,600
EFAIMOIE3 XI& 219,498 206,698 12,800
307 gl2tol & 210,748 206,698 4,050
02 IZHE M AIHE L 97,440 97,440 0
OF=AMOIS3 AS XA 97,440,000 97,440
03 QIAHMNHE2IHIEE 113,308 109,258 4,050
OFF=AIMOISs 2EX& 113,308, 000& 113,308
402 RI2EX20| ™ 8,750 0 8,750
01 212t 2 AL B (RERTH ) 8,750 0 8,750
OFFAMOISa 2 ANIZEE &% AXN H
& 8,750,000 8,750
MOtS2 & D184l 8,051 8,051 0
307 21201 A 8,051 8,051 0
04 QIZFHALAIH B = 8,051 8,051 0
OMOIE2 < JIga(Motses 523x4)
8,051,000 8,051
MOtSXIZ XHH 3 8,051 8,051 0
307 21201 A 8,051 8,051 0
04 QIZFHALAIH B = 8,051 8,051 0
OMOIE XIS X & 8,051,000 8,051
HHE &F, = ISH 2SI 45,000 45,000 0
< 18,000
Al 27,000
307 21201 A 45,000 45,000 0
< 18,000
Al 27,000




2AM: XA D
HzM: HEE HACole 8 2= 3 Ad
e 8N Uses AlIEdE ™MAH 25 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02 QI AAIE E X 45,000 45,000 0
OMNE BY W= ZEHOST
45,000,000 45,000
& 18,000
Al 27,000
MOISXIE A AHE &2 144,000 176,000 A 32,000
= 72,000
Al 72,000
301 et A= 144,000 176,000 A 32,000
= 72,000
Al 72,000
02 Zet=2dsex=2 144,000 176,000 A 32,000
OMOISXEX XH4H &Hst2 144,000,000 144,000
= 72,000
Al 72,000
HEANAMII2SEFTAE A XS 104,392 102,823 1,569
307 giztol A 104,392 102,823 1,569
02 QIZIA AAIE B X 47,307 47,307 0
OHIEAHADISSEFTAE2S MK
47,307,000 47,307
03 I HEESIEHIEX 57,085 55,516 1,569
OHIEAHADIS2SEFANES 2H XS
57,085,000 57,085
HEZAHAMIIS2E 3& sotsds 6,402 6,402 0
307 2iz2to| A 6,402 6,402 0
04 QIZ2tSHAFAFS B X 6,402 6,402 0
oHizAHalIes 3 sotsua
6,402,000 6,402
SIE2XNSEAWUHFAIXNEG X 95,750 94,183 1,567
307 2Iz2t0| & 95,750 94,183 1,567
02 QIZFE AAIE E X 37,657 37,657 0
O 2NFRESHUEHFAIXNEZ AL X
37,657,000 37,657
03 QIZI P AESIHIEX 58,093 56,526 1,567
O 2NFRESHUHFAXNE SIXNE
58,093,000 58,093
NEEHY I35 MI SsAEH 2,910 2,910 0
307 2I2t0| & 2,910 2,910 0
04 SIZ2ISHAAISH E X 2,910 2,910 0
OXNSRESHY NS4S SR
2,910,000 2,910
AIESLHFAIES XA 13,377 13,377 0




2AM: XA D
B HaE MEsts B RE ®HE AH
Sel B Urs ARIEE XN PE (ol @)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 T = HDZ2
O &F o8
307 2Iz2to| & 13,377 13,377 0
02 QIZHA AAIE E X 13,377 13,377 0
ORIESLEFAIEYS AMIAEH
13,377,000 13,377
OIESLEHFAIUE L SHUESSL 2 HAE Al A A 3,880 3,880 0
307 212t0| & 3,880 3,880 0
04 SIZ2ISHAAISHE E X 3,880 3,880 0
OUZSAHFAILS L BHUASSA20) M Al
A Al 3,880,000& 3,880
HX O AKX RAEH X 48,500 48,500 0
307 2I2t0| ™ 48,500 48,500 0
02 QI2tAAMAIE E =X 48,500 48,500 0
OY X I KX S HE AFS XS 48,500,000 48,500
ANSSAHEE 29 776,077 744,815 31,262
201 gBt24y| 4,180 4,180 0
01 AP 2t 2| H| 4,180 4,180 0
OXNESALAH E=IH M 95,000€ * 449 4,180
301 et A =2 250 250 0
09 SHAIAHI X &2 250 250 0
OXNEA ET0IWE Ul (REH|)
5,000 * 50H 250
307 2iz2to| A 752,997 732,785 20,212
02 QIZ2FA AAIE E X 109,062 109, 062 0
OXNESAIAEH AFS XIS 109,062,000 109,062
03 IZIHY P ESIHIEX 643,935 623,723 20,212
OFFANXNSSAIHAEH 2HXE 643,935,000 643,935
401 Al HIZL 2 0HY| 13,000 0 13,000
01 Al&H| 13,000 0 13,000
OFX& B4 13,000,000 13,000
402 SI2F 20| & 5,650 7,600 A 1,950
01 It E AL EXR (M) 5,650 7,600 A 1,950
OXNESAHEH JlsE2ZAY 5,650
OZFH 1,400,000 = 1CH 1,400
OZEHE 2UH 250,000& * 3CH 750
Ou=& Hol= 180,000& = 54 900
On=s& ox 100,000 = 2004 2,000
O B(zH220| HEH) 200,000 = 304 600
MNEEAMAEH 25 X 126,000 126,000 0
= 25,200
Al 100,800




2N
X ZH -
L= B

el

PR
HoE dEcts 8N 2= 8 &8
g Uss AYEd A 2=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 126,000 126,000 0
< 25,200
Al 100,800
02 PIZHEHAHE L 126,000 126,000 0
OXNESAEEH SAHEZS K& 126,000,000 126,000
< 25,200
Al 100,800
NASAH 243 N 62,080 59,112 2,968
= 31,040
Al 31,040
307 glz2+ol & 62,080 59,112 2,968
= 31,040
Al 31,040
02 YAFHAANFEE 62,080 59,112 2,968
OX&SAH ZCIUIOIH X& AL
62,080,000& 62,080
= 31,040
Al 31,040
NASAEEH S5 NSAML 282 X 36,166 34,172 1,994
= 18,083
Al 18,083
307 glz2tol & 36,166 34,172 1,994
= 18,083
Al 18,083
02 QIZtE M AMHEE 36,166 34,172 1,994
OXNESALL 282 X 36,166,000 36,166
= 18,083
Al 18,083
EF=ARGXICrE 8 KA 210,000 210,000 0
307 21201 A 210,000 210,000 0
02 B AAHE X 210,000 210,000 0
OFFAXNAXICHE 2G| AH XA
210,000, 000& 210,000
IEEg d3U3 20,000 0 20,000
307 21201 A 20,000 0 20,000
04 QIZFHALAIH B = 20,000 0 20,000
ONZSUHIUE (BE4FH)
20,000,000& = 13l 20,000
SHEH 2 6,350,911 444,696 5,906,215
< 117,075
Al 6,233,836
Hgal 8IS AKX AN 6,300,927 444,696 5,856,231
< 117,075
Al 6,183,852




SN XD
M HGE Hdole 8N 2= EF AE
el T L (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
101 14 Hl 63,021 0 63,021
< 21,007
Al 42,014
04 JIZHHZ22XREES 63,021 0 63,021
OHMBsl MISAXNLEN JIZHIZX E= 63,021
OJIAM22 X 2124 (86%, 10)
61,350,800& 61,351
< 20,450
Al 40,901
OJIZHZZ2X 4UEE JI22E3
1,670,000& 1,670
= 557
Al 1,113
201 L2l 187,202 0 187,202
< 62,402
Al 124,800
01 At 2+2/H 174,461 0 174,461
ONBsl d=ASAXNLLHN HFRFE =ZH| 96,541
oY E Xy 10,618,0002 10,618
< 3,540
Al 7,078
OdAN A RrO= 38,313,000 38,313
< 12,771
Al 25,542
O=EMEsX 7 11,660,000 11,660
< 3,887
Al 7,773
OAMNEEE 7Y 26,500,000& 26,500
< 8,833
Al 17,667
O, g9 M 7,450,000 7,450
< 2,483
Al 4,967
Odatad 2E HE W M
2,000,000& 2,000
< 667
Al 1,333
OXNBsl d=2SAXNEHN HRFE S HI 77,920
OAI 8,000& = 109 « 40 3,200
< 1,067
Al 2,133
o+ 8,000 * 10 » 40¢ » 404 + 12,800
< 4,267
Al 8,533
og -9 -3
8,000 » 6H » 30 » 43 5 - - = 61,920
< 20,640
Al 41,280




R PPN = RSy
N vsls dTols B Re BE 4
©el: B L (chgl: &2
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 12,741 0 12,741
oORUR= 12,741,000& 12,741
= 4,247
Al 8,494
202 044l 78,800 0 78,800
< 26,266
Al 52,534
01 SLHOIYI 78,800 0 78,800
OXNBsl MISAIXNELHN HFRF=E Ol 78,800
OAI 20,000 = 4% = 25¢ 2,000
< 667
Al 1,333
o+ 20,0003 = 4H « 2582 « 404 2 8,000
< 2,666
Al 5,334
Oog-&- -8
20,0003 * 48 » 202 « 43 S5 - ¢ - = 68,800
< 22,933
Al 45,867
203 YR =&l 22,200 0 22,200
< 7,400
Al 14,800
03 A MFXH S Z= XY 22,200 0 22,200
OXNBsl M=2SAXNEHIN HRF=EH| 22,200
OAI 500,000& * 23 1,000
< 333
Al 667
o+ 500,000& * 23] » 404 4,000
= 1,333
Al 2,667
og-@o-s
200,000& = 22| 4304 & - ¥ - = 17,200
= 5,734
Al 11,466
308 MtXIEHSOIH 5,949,704 444,696 5,505,008
12 J|EtRE= 5,949,704 444,696 5,505,008
OHMB8al M==AIXYEN 2elB 5,949,704
Oag dHaeA33 2,408,971
-=H 2 AAZH 600,496,000 600,496
-2 d , A5FY 42,675,000 42,675
-2&HE 1,754,800,000& 1,754,800
A& 22, EE F0HE 11,000, 000& 11,000
ONM3 7 dA22AAS 1,128,369
-=H 2 AAIZH 527,200,000& 527,200
-aE, A5E 14,225,000& 14,225




Xl ot
BHalE dEol= M 2= EF &
SEH2e )
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
-2&UE 576,000,000& 576,000
-HE 2R HE FOHE | 10,944,000& 10,944
Osd3 dAH22/AASF 1,444 344
-E=Hl & AAIEH 629,575,000 629,575
-2 E , A8F 14,225,000 14,225
-2HHE 789,600,000 789,600
-HE 2R B F01HE 10,944,000 10,944
OFEAFR A& AAS 968,020
-EH & AAIAH 459,450,000 459,450
-2 d, A5FH 14,225,000& 14,225
-2HHE 483,481,000 483,481
-HE 22, EE F01H3 10,864,000& 10,864
M20CH Chsga & A 49,984 49,984
201 Yer2 Y| 49,984 49,984
01 At 22l 49,984 49,984
OHM200H HES8EH LRFA L= 49,984
OdNse &% 70,0003 = 23] » 480 = 6,720
OdHEE il 33,000 * 4804 A 1,584
OdHEEsS NH
1,000& » 2005 * 4804 9,600
a2 slIoMFE ROl
10,000& = 2008 * 23 4,000
O=SAS8X 7L 21,0003 » 5%A » 4804 & 5,040
O=AII EH 260,000 4804 & 12,480
OoxZgd EH 220,000& 480 A& 10,560
Q=2oIFE0 O NH XY 14,940 14,940
2=o=0 XGAe BE XA 14,940 14,940
201 LBr2 Y| 5,000 5,000
01 At 22/l 5,000 5,000
OL=I=0l Ha Al =2 5,000
O8 =5 66,500 * 400H 2,660
Ocl&% 100& = 23,4000H 2,340
203 YR =&l 1,000 1,000
03 A Z=XH R =AH| 1,000 1,000
o0g=¢ Nd g2 =& 1,000, 000& 1,000
307 glz2+ol & 8,940 8,940
04 QIZFALAIRIE X 1,940 1,940
Og=¢elu eHotes dS23ME
64,6603 = 30 1,940
1A =SXIAMEE X 7,000 7,000




2N
X ZH -
L= B

el

ilo
HMEE MTols BN 2= HE A
QROIZED oY HE X

SAH-AH -2 (SA) - HREAY - BES 01l Ao %Eﬁ Husz
OFO0ItE B201na 29
7,000,0002 * 1JHA 7,000
HMSHHH (XX XD 47,718 50,062 N2,344
=23 47,718 50,062 N2,344
Il =& 47,718 50,062 A2,344
201 LBt HH| 21,318 20,542 776
01 A2 22l bl 21,318 20,542 776
oJlzgesd A (II=FHl)
450,0009 » 199 8,550
OZ2HI(J1=3dl)
8,000% * 19% » 72 « 128 12,768
202 O4H| 22,800 25,920 23,120
01 2ol 22,800 25,920 23,120
O=2UobI(21=Z4l)
20,0002 * 19 * 52 * 122 22,800
203 YR =X H| 3,600 3,600 0
04 BNS2IARZ=TH| 3,600 3,600 0
OJI=H (X A20010l5t) 300,000 * 129 3,600




—— A
N & 0l &t A H AN A
2022 = 20l AF LEHSIH A A
SN BEIE D
M ASTD BB #=E NHUS
oot 2E 9 L #=s AF X4 CEEEED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
ELPSINEZ N 186,494,382 171,922,456 14,571,926
AEN SHEO #MEE XNEAOIS)| 18,152,578 13,330,091 4,822,487
st Ot Lz #H=EE 2H X4 10,249,349 9,364,228 885, 121
N N PIRSES: 375,010 258,010 117,000
201 2Et2Hy| 46,010 46,010 0
01 AP 2t 2] H| 8,550 8,550 0
OFANESIISHE BaIlss 7Y
95,0008 * 90™H 8,550
03 A2 A H| 37,460 37,460 0
OZ2F& HEH M=zl 17,460
OLE M2 14,4008 * 4008 5,760
OMXF M& 63,000& = 150& 9,450
O& A L 45,000& = 5004 2,250
OJIE1 Mol BeEZzz )
100,000 = 40¥ * 23| 8,000
OXJ Z3AES HOE 3,000,000& = 43| 12,000
202 044 239,000 127,000 112,000
01 2L Y| 15,000 15,000 0
Os0l8 IR MHESSIMHE 29
150,000 = 100 15,000
04 =H 30 bl 224,000 112,000 112,000
©O25E 0| & B2 B2 e =sHE S
3,200,000& * 70H 224,000
203 €2 F=&d| 10,000 5,000 5,000
03 Al ZH =X 2= XIH| 10,000 5,000 5,000
oOArsS 4 gRFX 10,000,000& 10,000
301 et A= 2,500 2,500 0
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255 118,320& = 1H » 128 1,420
e maRay
16,6903 = 20AI2t = 1H « 123 4,006
-Hd=sg 50,0003 = 18 » 123 600
SR 30,000& = 1H » 123 360
OY&EF It
2,366,500& = 50% » 1H * 23] 2,367
O¢ItEAZ 89,0403 * 19 » 20 1,781
OENE S| 227,167
oJlazs(ta) 156,686
-6 Xt 2,252,460 » 1H » 1228 27,030
-54 Xt 2,213,600 * 2 * 123 53,127
-43 Xt 2,174,640 » 2H » 1228 52,192
-39 Xt 2,028,070& » 1H » 128 24,337
(OF=1 42,073
-Z gAY 140,000& * 6H = 123 10,080
25 110,680& » 3Y¥ » 12& 3,985
Ry
15,450 = 20AI2t = 6 = 12& 22,248
-Hd==g 50,0003 = 6H » 123 3,600
Sy 30,000& = 69 » 12& 2,160
ON=2<(H<X) 40,0008 * 6F * 123 2,880
ON=E=< (M) 20,000& = 2% = 123 480
ON=sx=<(EM) 60,0003 = 3H « 123 2,160
OZFE FItHI 13,060
-6 Xt 2,252,460& = 50% » 1H * 23] 2,253
-5 Xt 2,213,600& = 50% » 2% * 23| 4,428
-43 Xt 2,174,640 * 50% » 2¥ » 23] 4,350
-3 Xt 2,028,070& = 50% » 1H * 23] 2,029
O¢ItEAZ 9,828
-6 Xt 85,0403 * 1H » 20 1,701
-54 Xt 83,7603 * 2% * 20 3,351
-4 Xt 82,4003 * 2H » 20 3,296
-39 Xt 74,0008 * 1% = 20€ 1,480
p[EER] 474,229 528,006 ~53,777




SN HEXE D
Sl

X{ XH -
S =

HE 22U (HE XA D)
=22l (=& J)
HH .ol (AH) - NSAY - By Ol &+ o4 SSa HlmE2
Jl23Hl 474,229 528,006 ANB3, 777
201 £B-2d| 183,754 233,561 A 49,807
01 At 22l 183,754 233,561 A 49,807
oJl=2ge=8d Ss2H(JI&EZl)
450,000& = 43Y 19,350
o=gd (JI&E&Hl)
8,000& = 579 « 7¢ » 123 38,304
O3RZAUZ2Z X (HA2el¥) TI=1
90,000& = 2& = 99H 1,620
O=2RAZZX(BIAM) TI=HI
250,000& * 28 » 2% 1,000
ogxtz 7,560
O&=J Xz 45,0003 * 600 » 12& 3,240
O3J&&EI| gtz 45,0003 = 80f ~ 123 4,320
oga 2d=d 115,920
Og &Y 60,0003 = 498 = 118 28,320
O= 2| 60,000& * 498 » 365¢ 87,600
202 oddl 51,600 57,600 A 6,000
01 = LH o4 1l 51,600 57,600 A 6,000
O©J1=3Hl 20,0003 = 439% = 5 « 123 51,600
203 PR =&l 238,875 236, 145 2,730
01 J|22F PR =8I 187,000 187,000 0
OANE 110,000,000& * 1H 110,000
ORANE 77,000,000& = 1H 77,000
02 ER & =X 44,315 41,765 2,550
o=2d(JIEA) 44,315
O 100E Nt K| 80,000& = 1004 8,000
O101¥ ~ 3009 60,000& = 2009 12,000
0O301Y% ~ 600 45,0003 = 300 13,500
0601 ~ 8009 30,000& = 2009 6,000
0801y 0l &t 15,000& * 321 4,815
04 NI FAH 7,560 7,380 180
OJI&ENA 7,560
O30¢2! ol at 400,000& = 12& 4,800
O30 =1t 5,000& = 469 » 123 2,760




t

o o Al

A

Off &t 24

dEE
Off & 24

= N H

14,622,143
114,535
918,584

13,589,024

14,332,

= N H

3,114,734
114,535
332,264

2,667,935

2,906,

ton

= Hn A

866,095

4,549
169,231
692,315

773,

86,800

35,

56,800

28,5004 = 200%

100,000& * 10€¥ = 13%
30,0003 = 20& = 12l
50,000& = 10¥ * 753

56,800
5,700
51,100

13,000
600
37,500

30,000

30,

LSANE 23 X3

30,000& = 600AI CH
20,0002 » 600l CH

30,000
30,000
18,000
12,000

= MW

9,099
4,549
2,275
2,275

= MW

9,099
4,549
2,275
2,275

9,099,000& =+ 13l

= N H

9,099

9,099
4,549
2,275
2,275

= M

192,800

40,860
161,940

174,800

m

Al

192,800

40,860
161,940

174,800




D

0

<

n0

Kio

Hl w

18,000

1,440

1,440
1,440

18,501

18,501

168

18,333

A 15,000

H3r
Wikd
RIS

174,800

10,460

2,660
2,660

3,000
3,000

4,800
4,800

355,395

355,395

4,142

351,253

47,600

47,600

47,600

30,000

Off &t 24

192,800

192,800
40,860
151,940

W

Al

11,900

4,100
4,100

4,100

3,000
3,000
3,000

4,800
4,800

4,800

373,896
110,876
263,020
373,896
110,876
263,020

U

Al

H

Al

4,310
4,310

950

3,360
369,586
369,586
110,876

258,710

H

Al

47,600

H

9,520
38,080
47,600

Al

H

9,520
38,080
47,600

Al

47,600

H

9,520
38,080

Al

15,000

01 At 22l bl

=]
e

100
o
o
K]
ol
oo
ol

Ho
=

oums

400,000 * 482CH

&J
KE

e

1oy
i3]
KJ
ol
il

30
0B
]
ol

201

22l dl

01 ALR

KJ
KE
O-
ol

KJ
K

[ =]
=T

=
=&

03 Al

'OCJ

3,000,000

KJ
KE
ok
oD

=
RO
)
oJ

o
&l
H

1J
oll

2
g o« 12

o X+ A8 X

v
8,000

=
=}

3

2l % 50

2
&

20

KJ
KE
ol

il

K]

R0

30
]3]
1)
oll

01 At2 22l bl

iy
10

00
T
)
o)

ol

=

100

A

H
0o

1+ 9,5000H

o
e

2+ 4800 A&

o
=

70,000

30
0H
H0
A0

&

369,586,000

ol

o0
T
34
o)

ol

00

0

Kl

80
]3]
oJ
oll

2tely

oF

01 At

&

47,600,000

30
0

00

o0
=
&)
ol

JJ




o o o o o o (] o (] o o o o Y] © © ©
o o [ee] [e] [ee] o o o [ [ [ N~
< < A B Sl = . | |e
A0 o o A INE RN RN 5 515
KIo q <
El
=)
o o o o o o o o o o (e] o o [e0) < < <
o o Al Al Al o o o o o [eN] < < <
o o o) Ye) Y] o o o o o Y] (e)) (o)) (e))
oS o ol|lo | < o o o o w© w|lo s
™ [ep] (o)} ()] (o)) 6] < < —
H3r - - | =
m
RS
o O o O O o o O O o o o o o o o O O o O O o o O O o O O o o O O o o o o N O ™M o o o
o O o O O o o O O o o o o o o o O O o O O o o O O o O O o o O O o o o o o O O (V) (V) Al
D O[S OWm|E S Lm|S|S|8 & S 5|8 NR|(S T &0F|d0F (8 50F|0 (S8 S |NSN|T |0
< O 0w < O (v n < O < < < < © oo} < — A [aN] — | AN N — [aV] — | AN [aN] — — — — — OO 0O N~ ™ [ap) —
il el A =T =N ESRESEA S N SR B =2 (- el
=
o
<
=)
H < H =< H =< H =< H =< H =< H =< H =< =
ol 44 i ol o+
— == == o o o
™ ™ o o o
* < © O, O, [ep]
ar o o = =) x
0 S o - < < W
S o oF N N o
m._ - o o o
o o o o
) 8 s 2 o
g o ~ S 8 R
< - mw < < ol
I+ g T @ -
= Omm _ 0l o
. __J_E =) il Rr
= % = W WoT R 80 80 = M_
ey -
g 70 o y 5 KO8 w L 2 50
oF = 5 D oo 7 ® M o & o4
_ _ K o uw _ _ o | o _|_
o i) o K =) < l 8 © 30 D o ol o = ol |3 | = | a2 |2
80 8 3 ol R R LT 80 o N Rl E=Y B I = i gl I )
s O 00 M S| B 3T = O CId by A R’ M 0b |7 M ;a __w_o 00 |7
Rl 5 =z = SRl E O Oola ol o 3 ) =z 3 i L <ok
R0 ol W O 1la |3 © 5 all =z 0 ol W O @ | |x O |" oo |=
c — ™ S0~ | ™ — — — o T = |= W 3| ==
o o P o o () o o o o o - _ o o
X X S| ® | eyl I52) | <0 Il N
I+ = o ™ 3 =
=




<

n0

Kio

Hl w

36,600

A

A

A

AT,573

58

58

58

A 109

A 109

A 109

H3r
Wikd
RIS

135,000

2,584

2,584
2,584

40,000

40,000

40,000

52,514

2,489

2,489

2,489

29,545

29,545

27,775

Off &t 24

11,520

171,600
171,600
168,000

3,600

2,583

2,583
2,583
2,583

570
680
1,333

40,000
28,000

rr

12,000
40,000
28,000

Al

rr

12,000
40,000

Al

40,000
28,000

i

12,000
44,941

Al

2,547

2,547

2,547
,103
1,000

1

70

33
700
460
240
744

29,436

29,436

27,666

16,385

1,400

2+ 128

=}

[unl

2 * 49 x 302 «*

8,000&

30
g
H0
A0

HO

128
128

2 x

14,000,000

(2821 &)

23 (7940 x)

no

2

<

0

A o+

=Y

300,000

30
0

B
0

Kl

30
0K
1J
oll

01 AtR 2t 2l |

i}
o

r
i3]
<
&l
ol

=

& * 3,0000H

190 &

104
1+ 430K

2 %
o
=]

-

al
4+
)

68,000
31,000

[und

1o

b

Ot (s8¢

oJ

29
w
1

KO
K

2 IJHEHI

T 2tel Xt

401 AIEHIZL 2 I

01 A& HI

[
w

el
KO

Bl =

il

H

!

O M h2tel Xt

|

=

o

40,000,000

ol
~0
&l
ol

0

e

JJ

&l

O
W

20

il
ur

&0
3]
oJ
oll

=
e

1M
1H

[ud

# 100

i

10,000

01 At 22l bl

2 *

-

ol
<+
8

=
3

1

* 23]

2 %
2 x 29 x 1
o
194

2l x 204

=
=
2 *

70,000

33,000

o
o

230,000
120,000
371,891

oJle

Ot

KJ
Kk

o
OH
]
1
K]

&0
3]
oJ
oll

01 At 22l bl

Kl
-

(Ud

1+ 200K

=Y
=

70,000

.

al
<+
)

ol




2N
X ZH -
L= B

el

H . ool (30) - NIRAY - B 0l &+ o4 il
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(OFSE=PN| 100& = 60,0000H 6,000
OCEE2EE 375& * 20,0004 7,500
OANdEetdEH E57L 1,281
OZg &#Z 2,640 = 3004 792
OLEDHE 55,000& = 64 330
OF-PN; 26,4002 * 64 159
ONMEY MBI M +¢
100,000& * 100 10,000
=323l 1,770 1,770 0
OAE HEMEAE KA 2 1,770
ONIIe3 25,000& ~ 123 300
OAMN& =X 49,000,000& * 3% 1,470
Helol s0lAld ord e 10,752 10,480 272
B2 | 10,752 10,480 272
23224 10,752 10,480 272
OAOtEQM 2| AIAE RX22] 10,752
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